Worksheet 1.1: Solutions
Using nuclide symbol notation

No. Answer

1 a 98
b 154
2 SNi
3 a 94 protons, 147 neutrons and 93 electrons
b 92 protons, 143 neutrons and 90 electrons
4 18
5 2C
6 2ISb*
7 a They have the same number of protons and electrons.

b They react in the same way due to having the same electron configuration.

8 wsr and %Y have different chemical properties, due to their different numbers of valence
electrons. 5Sr and ¥Sr are isotopes, and so are harder to separate as they have identical
chemical properties.

23 + 24 2+ 27 3+
9 “Na® or SMg”" or 1] Al

10 | #8* and SCI
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